20154 108 NEF)| $FUH

== DN

. _ =
= RELE e 20| 1(:) (B/A)

8t 3 6,654 1,408 796 2204 | 33.1%

s & 2 4,325 527 1,303 30.1%

= & 2 413 106 230 55.7%

o A =2 326 59 139 42.6%

~ A2 1,590 103 532 33.5%

[HEXIe]

g Al 907,928 | 1,585,414 873,748 | 1,408,433 -3.8 -11.2

s & = 388,917 840,704 378,228 775,948 -2.8 —7.7

= & =2 18,879 124,916 16,953 123,576 -10.2 -1.1

g o = 255,021 99,495 257,091 79,600 0.8 -20

= & = 245,111 520,299 221,476 429,310 -9.6 -17.5
[ZDIX1¥]

g A 271,742 698,008 344,718 795,856 26.8 14
s & =2 167,629 457,667 184,179 526,684 9.9 15.1
= ¢ = 17,534 97,823 21,340 106,473 21.7 8.8
g o = 74,880 58,038 126,297 59,479 68.7 2.5
= & =2 11,700 84,480 12,903 103,220 10.3 22.2




= 388,917 840,704 378,228 775,948 -2.8 —-7.7

= 10,406 43,947 9,711 39,714 -6.7 -9.6
523 192 136 107 —-74 -44.5

7,894 28,900 7,206 24,446 -8.7 -15.4

290 580 200 279 -30.9 -51.8

47 544 28 107 -40.4 -80.3

85 294 277 772 225.3 162.6

56,723 59,333 44,589 57,747 -21.4 -2.7

32 86 50 95 55.7 10.2

23 79 12 37 -48.7 -52.5

232 1,054 282 804 21.5 -23.7

62 104 29 79 -53.6 -24.2

= 228 1,716 135 1,153 -40.6 -32.8

160 1,013 87 552 -45.7 -45.5

17 109 5 31 -69.7 -71.3

16 316 12 221 -24.8 -30.2

18,879 124916 16,953 123,576 -10.2 -1.1

513 3,283 492 3,415 -4.1 4

313 1,941 388 2,469 23.7 27.2

2,991 5,437 428 1,179 -85.7 -78.3

255,021 99,495 257,091 79,600 0.8 -20

8 60 5 94 -36.7 57.6

7 88 15 189 118.8 113.5

21 160 20 203 -3 26.6

9 92 4 44 -51.3 -52.1

245,111 520,299 221,476 429,310 -9.6 -17.5

S 4,633 5,348 2,299 2,662 -50.4 -50.2
S 13,734 22,158 20,332 22,554 48 1.8
= 4,354 30,666 4,288 28,129 -1.5 -8.3
A 1,632 6,566 1,718 6,462 5.3 -1.6
L3 1,062 2,548 1,398 3,256 31.6 27.8




s & =2 167,629 457,667 184,179 526,684 cRY 15.1
M A& = 3,650 31,172 4,066 36,727 11.4 17.8
bH = 55 27 246 147 350 437.2
2 X 534 1,578 678 1,968 26.8 24.7
EltE 1,697 3,147 1,420 2,077 -16.3 -34
o) 45 418 56 582 23.8 39.4
o= el 3t 91 292 82 221 -10.2 -24.3
T 5,178 15,765 6,305 17,913 21.8 13.6
iy 2,047 5,378 1,467 3,404 -28.3 -36.7
S0t 72 146 23 73 -67.6 -50.3
=& 1,415 4,660 1,752 5,413 23.8 16.2
®zE 174 593 179 613 2.9 3.4
g 3 = 875 8,048 573 5,043 -34.6 -37.3
=l 54 658 25 196 -53.9 -70.2
H= 169 1,042 133 733 -21.7 -29.7
Sl 416 3,776 248 2,573 -40.4 -31.8
= o 2 17,534 97,823 21,340 106,473 21.7 8.8
207 1,132 12,035 2,240 15,802 97.9 31.3
L= P\ 213 942 384 1,630 80.1 73
S| 3,575 6,094 4,717 7,275 32 19.4
g & =2 74,880 58,038 126,297 59,479 68.7 2.5
DAtel 0 1 9 43 2,857.7 3,190.8
HHA 2 25 4 49 79.5 97.4
or=tE 0 1 3 41 2,297.5 2,942.9
= 0 2 3 24 1,345.5 1,468.1
= & =2 11,700 84,480 12,903 103,220 10.3 22.2
IS0 86 195 976 834 1,037.8 326.7
O 1,068 1,864 1,946 3,455 82.1 85.4
Z 2,364 51,391 2,834 55,335 19.9 7.7
0l 222 1,336 345 2,026 55.4 51.7
L= 2,684 887 584 772 -78.2 -13




